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1
Decision/action requested

In this box give a very clear / short /concise statement of what is wanted.
2
References

(Reference - in list form - should be made to previous related SA5/3GPP/etc. documents.)

(For changes against a draft TS/TR, a pseudo CR - a.k.a. pCR - will be provided using this Tdoc template. In this case, the number, name and version of the draft TS/TR used as base must be provided and the version must be the latest available version of the draft TS/TR.)

[1] 3GPP TS 36.300 E-UTRAN overall description
[2] 3GPP TS 32.425, Performance Management (PM), Performance measurements (E-UTRAN).

3
Background
3GPP RAN WG3 has specified so-called MRO failure types “Too late HO”, “Too early HO” and “Handover to Wrong Cell” which help to decide for the right correction measure [1]. In addition, MRO determines the cell which is responsible for this failure. 
The counted MRO failure types are reported as performance measurements to Network Manager for detecting HO-related issues on the cell level [2].
4
Discussion
The problem is however that in case of “Handover to Wrong Cell (HWC)” a third cell is involved other than the source cell and the target cell. It is defined as following:
“An RLF occurs shortly after a successful handover from a source cell (Cell A) to a target cell (Cell B) or a handover failure occurs during the handover procedure; the UE attempts to re-establish the radio link connection in a cell (Cell C)other than the source cell and the target cell” [1] (Figure 1).

 

And having a third cell involved means that there are two neighbor relationships involved, however that a HWC is a single counter per neighbor relation (NR) in cell A as currectly defined in [2], i.e. it can be counted in NR_A-B.HWC or NR_A-C.HWC (assuming that A is the guilty cell), and which NR the HWC shall be counted in has not been clearly specified. Indeed, HWC A(B(C (Figure 1a) can be caused by two different isseus thus can be tackled by two different measures, namely either by delaying handover to cell B by making the cell B less attractive and UE goes hopefully directly to cell C and/or by making cell C more attractive that handover to cell C is earlier triggered than towards cell B.

The counter HWC irrespective whether incremented in the object class NR_A-B or NR_A-C or both does not correctly indicate the exact HO related issues in the cell, since it cannot be distinguished between HWC A(B(C and HWC A(C(B (Figure 1b) where issues on NR_A-B and NR_A-C are completely different and even opposite.
Conclusion
Make separate counters for NR_A-B and NR_A-C for a HWC case (e.g., HWC A(B(C (Figure 1a)).
See the concrete CR S5-131270.
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